-3 ABACD 6-10 DBCBD  1l-14  ACCD

15, 1) H:0:0:H = W A TR

(2) @ Clz+ 2NaOH = NaCl + NaClQ + H:0
@ e ClETfii FE—Lk, ClETREIDT L BET4HE <l #ifmiE
BRG] A =1 B AR®R SRS Cl=1 Fakett Cl=1L skt Ch>=0h:

€3) ab

{4} SMn?* + 2C1O; + 6H20 = 5Mn0; = 2C1- +1 2H*

e k)
16, (1) Q2 (2) N +3H; “=a%5 JNH,

{3) @M acd & NO*+I =0ONI

4) 4 5Fe™* 2H:0

17. (1) COxg)+ 3Ha(g) == CH;OH (g)+ H:O{g)  /H=-49.2kJ = mol’

(2) #iL® (Qe<K)

(3) Wi > MNFREAESTHESTEEANERN, KIS, TiiEmiEs),
CH;OH ${bEM K. KRB py A ELI CH0H B b EXRT pay FILES pr=pa.
HoOREEF R, LR A GHANRRE), BRI ERIREED (BLRINEAL),
B R R R sl 1 r RS ) sl .

@ be

18, (1) WCEEmTmAT, ot
(2) 4Fel* + Oy +4H" = 4Fel* + 2H:0
£3) 1.0~15 (4) KCSN

(5) CuS + HiOy 12H-=Cud*+ 2H:0+8  (6) 232Y 5 100%



19, (1) 8*+H.0 = HS + OH
(2) (DITHRSES, UFHR TR AL B OHNREERDE ., W2 R AL SO+
(23 I
(3) (DMAMELRRL S, #nLE BaCl2 #0, & HMA GiiE, Wik £ S0 .
(2 NaxS:03 P IMAFE LA 23 H INBT Al . NagS DHAGHE Ak At 22 A 5L 8 B ST ) UHE
(4 @ RERtddE s G LB R, B HEREANESER, W NagS:0: 5 Cu™ e & 1.

@ Cu*+ 8. =CuS +(x-1)
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